FixBugs: Post Questionnaires

Q0 Post-Questionnaires  Original Code  "Quick Fix" Version.1  "Quick Fix" Version.2
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QAL "Quick Fix" version 1 helps me to quickly and effectively understand what will happen to

my code once the fix is applied.
Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)
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QA2 "Quick Fix" version 2 allows me to quickly and effectively understand what will happen to

my code once the fix is applied.
Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)

0000

QA3 Manually fixing my code helps me to quickly and effectively understand what will happen to

my code.

Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)

0000
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QB1 "Quick Fix" version 1 reduces the amount of work required to fix a bug.
Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QB2 "Quick Fix" version 2 reduces the amount of work required to fix a bug.
Q Strongly Disagree (1)

O Disagree (2)

QO Neither Agree nor Disagree (3)

O Agree (4)

O Strongly Agree (5)

QB3 Manually fixing my code reduces the amount of work required to fix a bug.
O Strongly Disagree (1)

O Disagree (2)

O Neither Agree nor Disagree (3)

O Agree (4)

O Strongly Agree (5)
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QC1 1 like that "Quick Fix" version 2 applied a default solution when invoked.

Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)
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QC2 Compared to Quick Fix version 1, "Quick Fix" version 2 makes the process of switching

between fixes fast and simple.
Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)

0000
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QD1 It is useful to be able to differentiate between new, modified and old code when fixing a
bug.

Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QD2 "Quick Fix" version 1 makes it easy to differentiate between original, new and modified
code.

Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QD3 "Quick Fix" version 2 makes it easy to differentiate between original, new and modified
code.

Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QD4 Manually fixing my code makes it easy to differentiate between original, new and modified
code.

Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QE1 With Quick Fix version 1 | could quickly make the changes to my code.
Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QE2 With Quick Fix version 2 | could quickly make the changes to my code.
Q Strongly Disagree (1)

O Disagree (2)

QO Neither Agree nor Disagree (3)

O Agree (4)

O Strongly Agree (5)

QE3 With Manual Fixing | could quickly make the changes to my code.
O Strongly Disagree (1)

O Disagree (2)

O Neither Agree nor Disagree (3)

O Agree (4)

O Strongly Agree (5)
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QF1 "Quick Fix" version 1 fixed my code the way | wanted it fixed (i.e. made the changes |

wanted made).

Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)
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QF2 "Quick Fix" version 2 fixed my code the way | wanted it fixed (i.e. made the changes |

wanted made).

Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)
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QF3 Manually changing my code fixed the code the way | wanted it fixed (i.e. made the changes

| wanted made).

Strongly Disagree (1)
Disagree (2)

Neither Agree nor Disagree (3)
Agree (4)

Strongly Agree (5)

0000



QGO

Quickfix Ver.1 Quickfix Ver.2
! publis class Training? | ! publie slass Training2 [ "
publis atakic Object inveke (Object obj, String methodHamea, public static Chjest invoke (Cbjest obi, String met] o peps
Object argl [ ] object =gt » @ Defmst buggarsons
R : eey ELE T 2 i
Method method:r Hethod methods I
method = abkj.getClass (b ogecMsched (methodiams, 1 ncthod = obj.getClass() .gecHethod (methodher ...
naw Claszal] [ acgType bh: 1 new Claaa]] | axgType 1
q saturn mathod . invoka (oby, new Objact(] § arg ) i return mekhod.invoke (ob], new Object[] [ arg B}
@ } eateh (Excaption o) [ 15 } eateh (HOSUChMBERoAERXeapEdsos | SccurityExcoprion af |
|G vl | Pt all it s il ';er-c'-'m TRt rvobl bR obj, Rang wwhocHan Sl | 1 e-printitackTrace ()
|t vard | Pt dm b mmption in<atch \;;L'.p_:-'q: ’ b matah | |
o fedd Frwitly Bock wiy [ : | ab 1
cthed sl H1T Ff T0DG Auba-generatad ibzh bhlock
ratbad = oby gl gt i kb ks e o
e Clans {11 asg Ty e.printstackTrace [};
rwnan raiedircbalobd pey Dt ]| mg it I
stk S bbb Do st | Fonuritla npios o) | (=~
LiF SO0 Auss-guaan s <t bk saturn oull;
N1r|“|l-i1un|ﬁ N . " ]

ks il g -
1 bervm st asef mpephion o1 |
¥ SO0 Awto-gestrsied sich black
huprieflisdTucal

QG1 If Quick Fix version 1 was available in my favorite development environment, | would
use it when | programmed.

Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)
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QG2 If Quick Fix version 2 was available in my favorite development environment, | would use
it when | programmed.

Strongly Disagree (1)

Disagree (2)

Neither Agree nor Disagree (3)

Agree (4)

Strongly Agree (5)

0000

Q26 Any suggestions?



